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(3)

If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.
ﬂﬁwﬁﬁmhﬁ‘mﬁmmmﬁ%ﬁmmﬁ, at ey wd@
I

Each question is followed by Four alternative answers (1),(2),(3)
and (4). Only one of these answers is correct. Select the correct
answer and record it against the relevant question by darkening
the circle with Ball point Pen in the Answer Bheet, as per the
guidelines.

TS 997 # AN IERaw IHw ged & ¥ B (1),(2),(3) 7o (4)
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SECTION-I
gus-1

Which out of the following numbers would be the next number in the
series of 81, 27,9, 3....

Fr=fefae =t & A @9 A9 FH7 ZHT T B ¢ 81,27, 9, 3....
(1} 0 (2 1 (3) 2 4) 3

Which of the following numbers would be next in the series of 2,
8:11,23.87, wias

Frfafaa = # | S Aft &1 gEsr 797 @0 2,5,11,23,47,.....
(1] 60 (2) 79 (3) 95 (4) 98

Which of the following numbers would be the result if 828 is multiplied
with 25 7

Frfefas d@emadt # § #9 afioms @ aft 828 & 25 § JRm
foray o & ?
(1) 20,500 (2) 20,600 (3) 20,700 (4) 20,900

The smallest number of 5 digits beginning with 3 and ending with 5
18 :

gﬁﬂﬁﬂﬁaﬁ_ﬁsﬂmiﬁﬁmﬁeﬁaﬁmﬂﬂmm
(1} - 30015 (2) 31005 (3) 30005 (4) 50003
Which of the following numbers is exactly divisible by 99 ?

T wearsdf § & -t b goiey & 99 & fbeg B 7
(1) 3572404  (2) 135792 (3) 913464 (4) 114345

E % PlTinl
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06.

08.

10.

Which of the following numbers represents 30% of 450 ?

Pt dEmatt § 8 9 30% ATE 450 91 wfafafue s &7
(1) 150 (2) 135 (3) 180 (4) 1350

Which of the following numbers would be the out come if .96 is divided
by 4.8 ?

e 3= 8 § 39 ufafsita st af? 96 5 48 |
Prafe Bear sar & & oy oo omer & ?

(1) 20 (2) 25 (3] .2 (4) .02

A has some manges. He sold 40% more than he ate. If he sold 70
mangos, how many did he eat ?

‘A B ITH B WM 9| IFA e g 38 40% sifgs § darne ofy
IO 70 AH AA o) IHA F B aw @ ?

(11 50 (2) 90 (3) 18 {4) 42

In an examination 26 guestions were asked . For each wrong answer
S points were deducted and for each correct answer 8 points were
awarded, If the score was zero after have in answered all the questions,
till how many questions were correctly answered ?

%ﬂmﬁﬁﬂéﬁﬁ%ms-mmﬁﬁmﬁ Hﬂ%ﬂ‘ﬁﬁ
FeTT 3% ST LRIEr
R aet & s wd a7 i il =

(1) 8 {2} 12 (3) 10 4) 14
If 35x35 = 1225 then 3.5%3.51is :

qi% 35x35 = 1225 ® &t 3.5x3.5 &
(1] 11.25 (2} 1225 (3) 1.225 {4} 1.125
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13.

14.
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When a number is divided by 779, we get a remainder of 47. What
remainder will be obtained by dividing the same number by 19 7

o FEft e # 779 @ R Beur o B S 8F @y ot 47
HTST Ele # | @ S over @nm 4k IE §e 4 10 § Rt
fagr omg ?

(1) 6 2 7 (3) 9 4 1

By selling 100 pencils, a shopkeeper gains the selling price of 20
pencils. His gain percent is :

U gHTEIT 100 Ueer &orehT 20 At g o7 are ey e B
IHHT T TRaT gftree ¥ ? |
(1) 25% (2] 20% (3) 15% (4} 12%

A vendor bought toffees at 6 for a rupee. How many for a rupee must
he sell to gain 20% ?

wﬁﬁu‘mwmaﬁamﬂ?aﬁwﬁlzﬂ%mﬁmm
M & T S8 um w9 F Reael Sfteai eh wfed ? |
(I} 3 (2 4 B} 5 4) ©&

A is twice as fast as B and B is thrice as fast as C. The journey covered
by C in 42 minutes will be covered by A in : :

(1) 7 minutes (2) 14 minutes
(3} 28 minutes (4) 63 minutes

a,Bﬁﬂgﬂtaﬁr%ehB,cﬁEh?rw&m%,émmﬁﬂgﬁ
5 gl it g A T e w@wg # gf ) o 2

(1) 7 Fwea (2) 14 PygE
(3) 28 fereR (4) 63 =gy

4 P.T.O.
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15. A car completes a certain journey in 8 hours. It covers half the distance

16.

17.

18.

at 40km/hr and the rest at 60km/hr. The length of the journey is :
(1} 350km (2) 420km (3) 384km (4} 400km
o @ OF A 8 u¥ # g wxe ¥ qe omdl g8 40 el afa

et # feara & wd A 60 Rert wfyy der B e @ qof w8,
@t aEn A ol aarE @

(1) 3sofed (2) 420fFdt (3) 384 Rt (4) 400 Fpet

In which of the following cases, the Supreme Court recently held
that arming of tribes is unconstitutional ?

(1) Nandini Sundar Vs. State (2) Kuldip Nayyar Vs. State
(3) Lyngdow Vs. State (4) Purulia Arms Drop Case

Frey & & Pre ATa@ & segm =R 3 e @ 7 g sfrale Re
Ry srH-sfagt @7 ettt ¥ 8w He orEautE 8 7

{1y At g« W T (2) FHFET AGAT FAH TH
(3) RfEE TAW T (4) gewEr s Frs & s

The E-Court project was launched in :

§-qrarem graeEr B ad F e @6 g o 7
1) 2011 (2) 2010 (3] 2009 (4) 2007

Under the Indian Constitution there is no provision to give immunity
from Criminal Prosecution to the :

(1) Prime Minister (2) Chiefl Minister
[3) Ministers (4) All of the above
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21,
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ﬂmﬁ; qiqas ﬂﬁ?ﬂﬁmmﬁmﬂﬁﬁmﬁqg%%ﬂmw
@ E N

(1) Jgr5s (2) Y=

(3) =it (4) I adf

Who among the following is known as the father of ‘prison
Jurisprudence' in India ?

(1} Justice Y.V, Chandrachud (2) Justice V.R. Krishnaiyer
{(3)  Justice 0. Chinnapparedd}r (4) Justice Vivian Bose

The literal meaning of the word "bail" js -

(1)  surety (2) release

(3) temporary release (4] none of the above
SHIRT &1 sifeas aref 2 -

(1) =t (2) Fefor

(3) IvarE Refis (4 S9F T A i e

Which of the following High Courts established the first Green Bench
in the Country ?
{1} Calecutta {2} Madras (3) Allahabad (4) Mumbai

ﬁwﬂ‘ﬁﬁmw%&mﬁmﬂﬁﬂhaﬁmmuﬁ?
(1) HeTemwT 2) wEE| (3) g=wETHTE (4) o

9 P.T.O.
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22.

23.

24.

25,

Who among the following is the author of the book "Justice for the
Common Man' ?

(1) M.C. Seetalvad (2) Nani Palkiwala

(3) H.M. Seervai (4) D.D. Basu
ﬁfﬂﬁﬁaﬁﬂgﬁm‘mmamﬂﬂﬂ’%é\wk?
() wE.dL diaees (2) AT g

(3) ud.OH. @R (4) srdr. =g

Who among the following is the author of the book “Legally Speaking' ?
(1) Justice V.R. Krishna Iver (2) Justice A.R. Lakshman

(3) Justice J.8. Verma {4} Justice Y.V. Chandrachud
ﬁﬁﬂﬁﬁﬁg@aﬂi‘mﬁﬁﬁﬁﬂ’amﬁ?

(1) Sifeed &R, G AT (2) wfteq T.HT. TeET

(3) TfeEd @ .0EEn (4) wfeed ag A1, T=IE

Which of the following is not included within the meaning of
intellectual property ?

{1} Patents (2) Copyrights

(3} Trade Mark (4) Property of an intellectual
ﬁﬂﬁﬁﬁﬁiﬁmﬂmﬁﬁmﬁ'ﬁqﬁ%?-

(1) 9E=H (2) WELETH

(3) TE AT (@) A st @ WA

The Central Vigilance Commission has been given "statutary status”
with effect from ! '

(1) 25" August. 1990 (2) 25" August, 1996
(3) 25" August, 1998 (4) 25" August, 1997

10
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(1} 25 T, 1690 (2] 25 HITHET, 1996

(3) 25 ST, 1998 (4) 25 HIET, 1997
Ipso facto’ means -

(1} In place of (2) By reason of that fact
(3) By rhe same source (4] By the way

T & (3wg) THET) F oaned B

(1) 3 <9 Wity (2) SH o1 F FHop
B wF & =g & arg |4}§!ﬁ(an§w%)
Medical Science used for investigating erimes s known as :
(1] Criminal Medicine [2) Epistemnlngical Science
(3} Farensic Science (4} Ontological Science

mn%-ﬂ%ﬂ%ﬂ@wﬁmmmﬁrm
T &

(1) stoafers aingsf (2] et faam
(3) # oy s (4} Al Frsmrey
What is the meaning of Chatte| ?

(1}  Any property (2)  Immovable property
(3) Movable property (4) Cow

AT (Chattel) & 3my a0yy R E S

(1) = wegfy (2)  oaa agfy

(3) == §wqfy 4 ™

11 P.T.Q.
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29.

3“:

31.

32.

Which of the following States had set up an Administrative Tribunal
for the first time in India ?

(1} West Bengal (2) Andhra Pradesh
(3} Madhya Pradesh (4) Tanul Nadu

ﬁﬂﬁﬂﬁmwﬁwﬁn&ﬂmmmﬁﬁaﬁwﬂﬁww
&l

(1) ofees & (2) ot WA

(3) we mee (4) g

Ten men can finish a work in 8 days. How many men will be needed
to finish the same work in half-a-Day ?

aumﬁrmmaﬁraﬁﬂﬂﬁaﬁﬁ%eﬁmaﬁﬁﬂmﬁﬁ#
ﬁ@mﬁmmﬁmﬁaﬁwﬁﬁ?
(1) 80 (2) 100 (3) 120 (4) 160

Who among the following was the first woman Barrister in India ?

(1) Cornelia Sorabji (2) Kamini Roy

(3) Kadambini Ganguly (4) None of the above
ﬁﬂﬂ%ﬁﬂmﬁnmqﬁm&ﬁw{ﬂ?

(1) AR (2) AT T

3) HIuGl (4) % § =
The word collegium was first used by ?

(1) Justice Bhagawall (2) Justice Subba Rao
(3) Jusuce Haose (4} None of the above
m%mm‘ﬂwq’mmmmﬁmw?
(1) iked WE (2) wfeyq g&EIE

(@) wieEE = (4) gy ® & wg T

12
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34,

36.

| 15U/103/17;

Who is the author of the book "Theory of Justice" ?

{1l  John Rawls (2) Charles de Mnntcﬂquicu
(3] Granville Austin (4)  None of the above

R e A I & e o &

(1} S5 g (2) e o, ARy

Bl =y anfeeq (4) I9Traa § J BIE

Whao among the following wasg the first Judge belonging to the
Schedujed Caste, elevated to the Supreme Court of India ?

(1} A, ‘..r'amdarajan (2) B.C. Ray
(3) Kﬂamaswamy “4) k.. Ea!akn‘shnan

%ﬂﬁﬂj@amﬁwnﬂwwtﬁ?%ﬁﬁw%
aaﬁnwmﬁmmmr%wﬁqaaffcrwamﬁmm;

(1) Q. gdgas (2)  =fr.«r.3g
(3] #. R (4 .. arerEpey

The Juvenile Justice (Care and Protection of Children) Act, 2000 came
in to force with effect from

%ﬁm(%wﬁﬁ‘ﬁmm}%, 2000 w3 §
SRICER: )

(1) 1.04.2000 (2] 1.04.200)
(3 1.11.200] (4] 1.12.2000

What relationship a doctor has with his patient 7
(1) Moral (2} Cusmmary
(3) Statutory (4) Fiduciatjr

13 P.T.0,
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a7.

3B.

agl

wwmmﬁﬁ%mwwa%?
(1) HfaE (:a}ﬂﬁiﬁmﬁﬁﬂ
S LURES (4) Heait®

Ossification test is done to determinge :

{1} Age (2) Sex

(3} Blood Group (4) Finger Print
sitefifensheT ol ferer e R fapay e & ¢
(1) 3H 12) f&

(3) == T4 4) I B

Penalty for a person illegally practicing in Courts and hefore other
authorities is for the term of :

(1) 3 months (2) 1 year
(3) 2 years : (4} 6 months

ﬁmﬁﬁﬂmﬂﬁmmgﬁﬁwﬁﬁﬁmﬁqﬁmm

(3) 2 & (4) 6#HEH

The maximum *ubi jus ibi remnedium’ means :

(1y Wher¢ there i8 no principal, there can be no accessory
(2) Where there is no marriage, there is no dower

(3) For every wrong there is a remedy

(4) For every Wrong there is no remedy

14
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42.
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The act of unlawfully entering into another's property is called -

(1} Confinement (2) Restraint

(3} Appropriation [4} Trespass
Mmmﬁﬁaﬂﬂwﬁrﬁ%ﬁﬁaﬂ&wm?ﬂm%
(1) aftdry (2) 15" FHer

(3) &\ F =7 (4)  aAferenT

National Law School of India Act, 1986 was passed by :
(1) Governmen: of India

2)  Government of Andhra Pradesh

I3l Government of Karnataka

4] Government of Kerala

%mmﬁgﬁrmﬁwﬂfﬁﬁqq 1986 FFEs =11 wifve fpar
T _

(1) 9va §var (2) H7" 9BsT "vET

(3) TFHI=H HTEHT (4) BT HTET

Electronic Signature' is introduced by :

(1) Information Technology (Amendment) Act, 2002
(2) Information Tochnology [Amendment) Act, 2004
{3) Information Technology {Amenciment] Act, 2006
(4] Information chhnalogy (Amendment) Act, 2008

15 P.T.0.
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TR TR fres & oy R T Y
(1) gae At (deirer) s, 2002
(2) wEwr SR (wisirerr) fefFra™, 2004
(3) g drenfir (Feier) arfafyas, 2006
4y gee it (dee) afafaas, 2008

43. The concept of Public Interest Litigation originated in !
(1] Canada
(2) The United States of America
(3) Australia
(4) The United Kingdom

aﬁqﬂﬁaﬁﬂﬁmﬂﬂ“ﬂwaﬁ!ﬂmﬁgw?
(1) oATE () EgE T A
(3) otrefer (4) gageE RpEH

44. Which of the following High Courts have permanent bench at Panaji?
{1) Mumbai (2) Kolkata (3} Karnataka (4) Delhi
ﬁmﬂﬁmﬁwﬂmmmﬂt?

(1) e (2) wrerEEr  (3) AT (4) et

45. The retirement age of Chief Information Commissioner of India IS :

(1) ©5 years (2) 62years (3) 60 years (4) S5 years

m%wmmzﬁtﬁmﬁqﬁrmwt?
(1) 65 @ 2) 62® @  (3) 60 /A (4) 558

16
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The Code of Criminal Procedure 1973 came into force on :

(1) 1" April 1973 (2) 1% April 1974
(3) 1" June 1973 (4) 1* June 1974
Tvs gftegr dfgar, 1973 &9 g9 & E 7

(1) 1 37T 1673 (2) 1 JUF 1974

(3) 1 A 1973 4) 1 37 1974

47, The ward Magistrate is used in which of the [ollowing Article of the

49.

Constitution of India ?

qe # G & e § @ g erpedy d et Afsree @ Iudm
fpaT TET B 7
(1) 226 2) 126 (3) 22 4] 21

In kidnapping, the consent of minor is :

(1) Partly Material (2) Wholly Material
(3) Partly Immaterial (4) Wholly immaterial
ZYETOT § egEs & @At § :

(1) T3 e 2) gotEw |/ afers
(3) ofifars aranfeas (@) guiwy @ st

Offence of theft is related to |

(1) Movable and immovable properties
(2] Immovable property only

(3] Movable property only

(4) All of these

1 T PiTini
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Qi w1 wgy e | gefgg 8 ° .
(1) == ud wad gufergl 8 (2) % o= gwfadl |
(3) ok == @iy A (4) TIoTE |99t

50. Homicide literally means :
(1) The punishment of death
(2} Killing of animal
(3) Murder
(4) Killing of a human being by another human being

‘eHtERE’ B it ored ¥

(1) 9t FvE & FN

(2) HAEL W HICAT

(3) B

([4) U HHET B TEL HHEG B OHITAT

51. A proposal when accepted becomes !

(L) Offer (2) Contract

(3) Promise (4) Agreement

0 g 9T WA Y T Tven B o 98 95 onar B
(1) 3fFT 2) dfa=

(3) =i (4) TR

52. An executed consideration is :
{11 An act of mutual exchange of promises
{2) An act done in the expectation of a proposal
(3] An act done in response to a positive promise
{4) None of the above

18
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84.
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s ogifed sfewe @

(1) SOE AEA-TEE " 99 @ g

2) FEA H INE G AT mar g

(3] WHRTEH ao= B oA o FROT T e
(4) IaUE H § Fig @

When an offer is addressed to the public at large the offer is called :

(1} Advertisement (2) Specific offer

(3) General offer (4) Auction

Hq o SHT 9 T F Y & omehr ® O Fw SifET FEErh ?:
{1} == (2) Tafirs et

(3] FHIE ATET (4] AT

The Indian Contract Act was enacted in the year :

e e sfaPum Rre ad 7§ oRe B o -
(1) 1974 (2) 1976 (3) 1872 (4) 1870

Which of the following offences does not affect the human body ?

(1) <Culpable Homicide (2) Murder

(3) Assault (4) Sedition

B & ¥ F9-T1 H9UY HEE 7T A wEih 96 ¥ 7
(1) S0 AFEgy (2) =T

(3) BHeN (4) IETE

19 P.T.O.
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56.

sS7.

After independence the Supreme Court of India came into existence
in the year ?

EEAA & g% 97 IeaT aEed e ad § oftae § a7
(1) 1953 (2) 1952 (3) 1951 (4) 1850

Which one of the following is net a part of Alternative Dispute
Resolution ?

(1} Arbitration (2) Litigation

{(3) Conciliation (4) Mediation

= % § P dalvas RBEw Pgern & oA a6 & 7
(1) WA= (2) am=

(3) =H=HEr (4) T

Question of intention and knowledge are :
{1} Question of law

(2) Question of fact

{3) Mixed questions of law and facts

{4) All of the above

e oY sHeET & oasH ®
(1 R&fer =1 gs=
(2) @&y H gsH

(3) Rfyr shT &z w1 dgw e

(4) IqUF @

Presumption of law which may be overcome by evidence is called :
(1) Conclusive Presumption (2) Rebuttable Presumption
(3) Mandatory Presumption (4) None of the above
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63.
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Rfe 5 Igurten Bra @meg & 9T g o @@ §owEerd B
(1) =S Swuren (2) @usfa IguTTeT
(3) ST IYHTTO (4) IU0Fa & | HE T8

Dishonour of cheque was made a criminal offence in the year ?

A% B IR B BB ad F SToaE Uy seEr T ?

(1) 1986 (2) 1987 (3) 1990 (4} 1989
Indian Constitution is ;

(1) Unitary (2} Federal

(3] Quasi-federal (4) None of above

e dfams ®

1) TERIEH (2) HIRHS

(3) ©UIETFE WHYEYY (4) Ig0ad 7 § @rd TF

Which portion of the Indian Constitution reflects the mind and Ideals
of its framers ?

(1] Preamble (2) Fundamental Rights
(3) Directive Principles (4) Fundamental Duties

WA ®@iu™ & AT 9nT 3as Fafareit & wftaes og Rardt
H qfiwifera wear & ?

(1) SEyE (2) T HAfeERT
(3) iy Ry T (4) o e

The ideals of hhcrty, equality and fraternity' in the preamble is
inspired by :
(1) Russian revolution (2) French revolution

(3) Marxian thoughts (4) Gandhian thoughts

21 P.T.O.
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66.

wETEET ¥ wEaeEar, 9T v $ei & e e 8 It awt

form & 7
(1) @& @ (2) SR\ W/ T
(3) wEREE e (4) el ==

Find the odd one out :

(1) Right to Equality (2] Right to Property
(3) Cultural and Education rights

(4] Right against Exploitation

e =1 F1 gaqr nEd
(1) THEET & SR 2] #=fer = HfRT

(3) R od wepie sfiar (¢) s & R sl

. The Fundamental Rights are available against the :

(1) Legislature (2] Executive

(3) Judiciary (4) State

T R s faee gueer @ 7

(1) e (2) &g gifeeR

(3) FATAGTETERT (4) I

Rights relating to freedom of religion are contained in :
(1) Articles 25 to 30 (2) Articles 26 to 30
(3] Articles 25 to 28 (4) Articles 25 to 31
aifts o= 4 gafaa sfies Reest Guems 8 7

(1) Igedw 25 § 30 (2) oI =% 26 ¥ 30
(3) FgB/T 25 # 28 (4) Tg=2% 25 # 31

22
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According to Article 74{2) of the Constitution, which of the following
statements relating to the question whether any and if so what advice
was tendered by Ministers to the President would be correct ?

(1} It shall not be inquired into in any Court.

(2} It can be inquired.into the Supreme Court.

(3) [t can be inquired into in all courts.

(4] It cannot be inguired into in the High Courts.

wrdr dfaum & e 74(2) 3 SgE o et # | o g

amma 21 & wEgt g sty #r were & wF B, 9 =y q9ee o
TE, a6 @El B ¢

(1) = Bl e § o w1 Bag T9 a8nf
(2) 4® Sedow Eed # A & B @ gsdt B
(3) | =ramat # sitg & R e aedt ®)
(@) T= e e J dg @ Byg TE8 & T 8

Which Article of the Constitution of India deals with "Constituricn of
Parliament' ?

AV R FT RS- SrERE HHE B TS § grabed R O?
(1) 78 (2) 89 (3) 79 (4) 80 .

The 'speaker vote' in the Lok Sabhd is called :

(1) Sound Vate (2) Veto

(3) Indirect Vote (4) Casting Vote
Steraar § =it @ ae FHewman 8o

(1) #HPFvS g (2) =Er

(3) 3 91z (4) eif&E @z

23 P.T.O.
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81.

wd.

83.

didt o5 @ e d9iem g0 gare B T 7

(1] 24 at H@aieH (2) 25 ai dHewre=
(3] 26 ai el (4) 27 ai gt
The law making power of legislature is subjected to :

1)  Fundamental rights (2) Directive Principles
(31 Fundamental Duties (4) Preamble
Rufyer @it fFums @ afya Bad o & 2

(1) T ey (2) e Friems o
3} T arfas (4) SENETT

Which of the following is a Court of record ?

(1] Supreme Court (2} High Court

(3) District Court (4] Both (l)and (2)
Fra & & Sm-\1 <raem 9 ofts Rt @ 2

(1) JT=gam g (2) S ~ETEg
(3) Torem =rverg (4} (1) T (2) Bt

How many items were there in the Ninth Schedule when it was
introduced ?

gzﬁeﬁmﬁ’rﬂmmﬂmﬁﬂiﬁﬁwwm&?
(n 8 2) ¢ (3) 10 (4) 12

Right to fly National Flag is :

(1} A Fundamental Right (2) Is not a Fundamental Right
{3] A Fundamental Duty (4)  Directive Principle

26
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70.

71.

T2.

73.

The maximum strength of the Rajya Sabha is :

Tegger &t Aftemam @2 ¥

(1) 2350 (2} 245 (3) 240 (4) 200

In the States with bi-cameral legislature, the Upper House is known
as :

{1} Vidhan Parishad (2] Vidhan Sabha

(3} Council of State (4) Council of Representatives

mﬁﬂmﬂuﬁuﬁm%aﬁm@mﬁmmﬁw
ST

S (1) P afiwg (2) Bus W
(3) I W e (4) sfeffeEt 5t fiftew
Which Schedule of the Indian Constitution deals with Panchayats ?
(1) 9 [2) 10% (3} 11 (4) 12%
wiefig d@faues # AE-d sy degdl § gefig & 7
(1} o9&t (2) 10t (3) 114t (4) 124t
The annual report of UPSC is submitted to :
(1) President (2) Prime Minister
[3) Parliament (4) Vice-President
g.dtug.dt. & affes Rale B oo @ ondt 3 7
(1) gl (2) W= s
(3) €HZ (4) IuersEgfy

T4,

How many languages are included in the 8™ Schedule of Constitution?

Hear gt Jredt g 7 et grd e & o & 2
(1) 14 2) 12 @) 22 (4) 15
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rr@ﬂtﬂﬂm%zmaﬂzﬁ!?%:

(1) T A AT (2) o AfawE T2 B
(@) T (4) ity FRs O
Is the Supreme Court bound by its own decisions ?

(1) Yes (2) No

(3) Depends on the case (4) None of above

o7 FEadd T I & Frok & s B 7
(1) & (2) @
3) gead 9 P wEr ¥ (4) Iodad F H wE TH

A proclamation of national emergency automatically suspends :
(1) All fundamental rights

(2) Right to freedom

(3) Right o caonstitutional remedies

{4y Neo fundamental right

ﬂﬁ,ﬁﬂmﬁmﬁﬁﬂ:ﬂﬁ!ﬁmﬁﬁz
(1) | e AT (2) wEEET F1 IHT
(3} HAufres ITER B AWET (4) #E qw Aftmr T

Deficiency of proteins causes : ,

(1) Kwashirkat (2) Xerophthalmia

(3) Goitre (4) Tuberculosis

G & W & 8 o &

(1) TR (2) rirasERaT

3) M () TgET FEa (A1)

27 P.T.O.
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76.

77.

15U/103/17()

All-India Services come under Article :

sk Ferd Py st ¥ T ¥ 7
(1) 310 2) 312 (3) 316 (4) 319

Whart is the duration of zero hour in the Lok Sabha ?

(1} 15 minutes (2) Half an hour

(3] One hour (4) Not specified

e qw H g I A @99 w o & 7

(1) 15 P=rg| ' (2) STaT el

(3) T HeT (4) Ffyee =€ &
Who among the following coined the word "Gramswaraj" ?
(1) Pt. Nehru (2) Ambedkar

(3) Mahatma Gandhi (4) Madan Mohan Malviya
ey # & am oo 9= RBRea R ?

(1) 9. 8% (2) SiEEHT

(3) \ErET M (4) HZA Hied HeEE

The Women's Reservation Bill was first introduction in the Parliament
in :

Hfgen areeror A wew aw wug ¥ e oad § uxge e omar v
(1) 1996 (2) 1998 (3) 2000 (4) 2008

Privy Purse was abolished by the :
(1] 24% Amendment (2) 25" Amendment
(3) 26% Amendment (4] 27" Amendment

25 P.T.0.
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87.

Weight of the body is :

(1] Minimum at the equator (2) Maximum at the equator
(3] Minimum at the poles (4] Same everywhere

T H g9 B R

(1] ST 97 §a9 =9 (2) FRET 9T qOF ey
(3) 9N 9T Fh (4) &%t ovrE wE w{uE

DNA refers to -

{1) Di-oxyribo Nuclic Acid (2) Dyoxide Acid
(3] Different Oxiberic Acts (4) None of the above
flod.a. § angd ¥ -

(1} =% il i odte (2) 38 HiTEE s
() T oRiAfie vy (4 IO # A B Th

What is the name of instrument used for measuring blood pressure P

(I] Lactometer (2) Sphygmomanometer

(3) Stethoscope (4) Endoscope
mﬁmmﬁ%%&sﬁmﬁn&mﬁaﬁﬂawmmt?
(1) FFerfrey (2) EFEEARARET

(3) iRy (4) T=rERg

In one minute, heart beats :

(1) 60 times (2) ©2times (3) 72 times (4) 82 times

F e { g et A vegar 2
(1) 60 are (2 628F (3 72 7@ (4) 82 &

28
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91. Once the blood clots at a wound, harmful bacteria are prevented from
entereing by .
(1)  Antibodies (2) Scap formation
(3) Antitoxins (4] Exudation of serum

U%H A A9 °g1d 97 @A B ORI 9 Gl €, O JHA aTah

i B g A |/ e ¥

(1] o= (2) Y FAEA

(3) ©= EreTTE (4) € @ TERISHA
92. Veins caﬂ:y blood :

(1] Away [rom the heart (2) Towards the heart

(3] Towards the brain (4) None of the abave

foed = Ft & Tt & -

(1) &9 8 3 (2) & & AT

(3) wftass &t {7 (4) I9LET H Hg e
93. Pissiculture is concerned with

(1) Fish (2) Silk

(3] Wine (4) Fruit

drefieeat forad Hefam & 7

(1) =ed ) Ra=r

(3] = (4) =T

94. The gas which caused the Bhopal disaster was :

(1] €O (2) CAN (3) MIC (4) SO,
A orgEl e I & HweT g8 v

(1) €. (2) #r.g.aq.

(3) ©w.ang.4. (4) TH.SM.Z.

29 _ P.T.0.
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98.

26.

97.

98.

Temporary tax levied to obtain revenue is called ?

(1) Cess (2] Sales Tax

(3] Revenue Tax (4) Surcharge

TAE U F14 & M 8 T SRS T e Her e B 7
(1) &9 (2) |9 =9

(3) ATEHET e (4) FLEs

The roman numerical for 100 is :

100 & o Im=r ~gafrea &
(1) L 2) X (3) C (4) LX

On substracting 9 from which number, its digits are reversed :

T& Hegq HE-9 8 e @ 9 ve 9T U ofF Iee o ¥ -

(1} 45 {2) 3_6 (3) 34 (4) 48
The square of a negative number is :

. {1} Positive (2) Negative
(3) Both (#4) None of the above
AL E EEAT F @G BT F o
(1) SHHT (2) “TRITHS _
(3) Sude &Ef (4) IT0FT F q P eht
Find the odd man out :
(1) Square . (2) Cube
(3) Foot (4) Prism
M~ &l Iy Hifed
{l} ¥{ET (2) =99
(3] H= (4) fow
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100. Which word is of a different class ?

(1] Horse (2) Tiger
(3) Sheep (4) Elephant
HIA-GT 9E UF o g% B 7

(1) =T (2) eETT
(3) s (4} @

101. Who appoints the Governor of Jammu and Kashmir State ?
(1) Chief Minister of State '
(2) Chief Justice of High Court of Jammu and Kashmir State
(3) President of India
(4) Prime Minister of India

T 0d HeAIT e B e B FgE S 8 7
(1) =9 =1 = w7
(2) 9 O HIHR T F Tod AATAT B ST TS

(3) gt
(4) WA T gGH A

102.India became a Sovereign Democratic Republic on :

(1) August 15, 1947 (2) Januarv 30, 1948
(3) January 26, 1950 (4) November 26, 1977
wiw Ry &9 9oy, sesarfEs R g ?

(1) 15 371, 1947 (2} 30 FEAN, 1948
(3) 26 ST=H, 1950 (4] 26 FF=L, 1950

103.In a written Constitution the task of interpretation goes to ;
(1) Judiciary (2) Executive
(3) Law department {4y 1 -zislature

31 P.T.O,
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ffea i & srufraas o afae e ww far & 7

(1) ~arafere (2) = qrierenT

(3) e R (4) FarenfrEr
104. Who founded the Banaras Hindu University ?

(1) Mahatma Gandhi (2] Madan Mohan Malviya

(3) Jawaharlal Nehru (4] W.C. Banerjee

Ay fesg g Premm @i e BB &5 ov

(1} werem ef (2) HZA HIEA =AY

(3) SEEEE AES (4) S=g.E, TS
105.The two nation theory was given by ?

(1) Sarojini Naidu (2) M.A Jinnah

(3) Jawaharlal Nehru {4) Pherozeshah Mehta

a1 gt W REr e Rar ?

(1) |ARH TEg (2) TH.G. P

(3} AR A A8 4) TFOs g Auern
106.The first President of Independent India was ?

(1} Dr. Rajendra Prasad (2) M.K. Gandhi

(3) Dr. S. Radhakrishnan |4} Raj Gopalachari

A ARE & UYH Uy e 4 ?

(1) =f. Io=E gEE (2) TF.F%. MY

(3) 1. TH. [T (4) TOT IraTETET
107. Human Rights Day is observed on ?

{1} 14" February (2) 26™ November

(3} 2™ October : (4} 10™ December
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ot Raq e B a&mr s & 7
(1) 14 S (2) 26 AFHEIT
(3) 2 SFCAT (4) 10 RE=Ey

108, Ex parte decision means a decision given :
(1] After hearing both the parties
(2) Without proper procedure
(3) After abserving proper procedure
(4] Without hearingl the opponent |

‘warg arel faofa & el @@ ol @ B o
(1) =t qerekrdl B G99 @ A R wEr 8
(2) fa afea gfear & garar s B

(3) afaa afsar oo & A AT S )
) fadelt gewere @ g faem Rar o 2

109.A formal instrument by which one person empowers another to
represent him ?
(1) Will (2) Power of Attorney

(3) Power (4) Instrument of Representation

ue TEAEAS TER T @ Afad 979 e @ J9a gfaiy =
# offae g2 BT B, S & ¢

(1) =B (2) Tat IfE T
(3] wET - (4) ufat+fas sRw
110. What does 'IPO' means in the securities market ?
(1) Investment Plan Offer (2) Investment Promotion Order
(3} Initial Public Offer {4) Industrial Plan Order

33 P.T.O.
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aftvgfa amse d ond e, § @@ awd & 2
(1) AEHz @ INET (2) FAHRT e aftET
(3) Ffage ofss sitet (4) FEEiad e aitdy

111. Indian Law Institute was instituted in the year :

gdig ot gediege fha ad & awn
(1) 1950 (2) 1952 (3) 1955 (4) 1956

112.In which of the following Law Universities, Government of India recently
established a fellowship in the name of Professor Jagadish Bhagavati?

(1) Cambridge

() Harvard

(3) Columbia

[4) National Law School, Bangalore

P | A Tore Ry Rvafaem & e & 3 wree 59T 3 et
T Wrgdl F A B Reig e & a7

AV ) (2) axd=E
(3) prafraa (4) A9 & TR, IR
113. Who among the following is the first Director of Directorate of Legal
Education ?
(1] V.B. Coutinho (2) Gopal Subrahmanyam
(3] S.N.P. Sinha (4) Rohington Nariman
Fie farn Feemem & fesr § & @9 guw 3w or ?
(1) el gie= (2) TR HEEIEY
(3) oE.gH.q fae (4) A== aftm=
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114.1In the Nagpur Session of the Congress in the year 1920, who among
the following moved the main resolution on Non-Cooperation 7

(1} C. Rajagopalachari (2) C.R. Das
(3) Madan Mohan Malaviva (4) Matilal Nehru

Igznﬁ‘zsiﬁﬁéﬂmgraﬁﬁmﬁﬁwﬁﬁm%m%
g¥ATE I TR R !

(1} €. T (2) dr.amy. TN

(3) H=A HigA Hedd (4) ArETE e

115. A black hole is a :
(1) Contracted star with intense gravitational pull
(2) Star with very low surface temperature
{(3) Star with no atmosphere
(4) Pulsating star

T W e B

(1) T TEarre B REEE ® e fagEr g @ r
(2) ®R FEE gag & I agT B B

(3) X Rrew B grgaeee TE R

(4) wafeT =)
116. Halley's Comet appears once in a period of :
(1} 24 vears (2) 32vyears (3) 76 years (4) B4 years
2 @re s @ # o = Rend 3o 8 7
{1} 2439 (2) 32ad (3) 76 a4 (4) 84y
117. The total surface area of earth is :
(1) 510 million sg km (2) 610 million sq km
[3) 710 million sg km (4) 810 million sq km

35 P.T.O.
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gl & §aOE H HA oftar ®

(1
(2]
(3]
(4)

510 fuferms w=amar Fenfey
610 fifems wmamET fheniey
710 fems =aET et
810 fifergs wErgT eendiey

118, Tides in the sea have stared in them :

(1)
(2)
(3)
(4)

Hydraulic energy

Kinetic energy

Gravitational potential energy

A combination of all the above three forms of energy

4z 5 @ W § g w@utea den ® 7

(1)
(2)
(3)
(4)

ErEgiees oAT

FrEAfesH T

T2 e=m qrefrage aFst

IO T U S Ao T |ieaey

119. Which one of the following is present in the largest amount in terms
of percent by mass in the earth's crust ?

(1)

£

(1)

Silicon [2) Oxygen (3) Carbon (4) Calcium

& md A ofyeea $ RE & A9 (Mase) # 999 sarer amEE o
A} #r-o g 7

e (2) offfe= (3) e (4) Hfeagw

120. Which one of the following is met the effect of the revolution of the
Earth ? '

(1)
(2)
(3)

(4

Change of seasons

Length of days and nights
Determination of latitudes

Change in the direction of winds and ocean currents
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e d & 31 gl % o & wreer gwifde wé e B 7
(1) &g H g
2y R v wa aft s

(3) AReyzw &1 Fwior
(4) a1 Hi Rem A7 A7 gy e § 959@

121.In India ' Law Day' is observed every year on ?

(1) January 26 (2) August 15
(2) May 26 (4) November 26
g # ufeed @iy Reg w5 59— o & 7

(1} 26 e (2) 15 37T

(3] 26%E _ (4] 26T

122. Who was the first man to go into space ?
(1] Valentina Viadimirovna Teresshkova
(2) Valdimir Titov
(3) Musa Manarov
(4) Yuri Gagarin

e & A aren ues aafad e &7
(1) e aElRyTgT Xsg@E

(2) =mEd feeta
(3) HHT ®ERY
4) T mfE
123.1n which city first law university in India has been established ?
(1) Trivandrum (2) Ahmedabad
{3) Bengaluru (4] New Delhi
wizeg d Bee e § guv QY Reaftreg enfter gon ?
(1) Fd== (2) SvEH=EE
(3) FrgE (4) % Rh

37 P.T.O.
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124.The largest revenue source in India is :

(1) Sales Tax (2) Income Tax

3] Excise Duty (4) Export Duty

WA H U G9d 987 G 8

1) T (2) HIFHT

(3) wHEEH g9 (4) frafe sgd
125.Neme of the first talkie film in India is :

(1) Raja Harishchandra (2) Sati Anusuya

(3] Alam Ara (4) Ram Rajya

ARA &1 gy JArerdl e ¥

(1) T efera=s (2) |l YA

(3) ST ST (4) TH T

126. Which of the following book is authored by Vishnu Sharma ?

(1) Panchatantra (2) Meghadoot
(3) Kamayani (4) Rubaiyat
Fog smi & aro s # & f9-d ges Rrdt o 3 7
(1) g (2) Aerge
(3)  HEEEAT (4) e
12'7.Heart beal in fever becomes :
(1) Faster {2) Slower
(3) Uneven (4) None of the above
gET d g2g @ A e S 8
(1) = (2) it
(3) TEAH (4) I # |/ Hig FE

38



128, Laughing Gas is -
(1) Nitrogen
(3) Nitric Oxide

dfeT /g &
(1) AEgeE
(3) =sfes simards

129.Dinosaur was a :
(1] Fish (2) Bird

SHEEER #:

(1) a8l (2) =1

130.The unir of electric current is

(1) Watt (2) Ampere
ToifFeah T 3 g B
(1) dfe (2) gy

39

(2)
(4)

(2)
(4)

(3)

(3)

(3]

(3)

15U/103/17(1)

Nitrous Oxide

Nitrogen Peroxide

ARad IfFaEs
ATFEA geiieans

Reptile (4] Mammal

T g (4) ¥TaTH

Ohm (4) Volt

Y (4) Tlee

P.T.O,
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SECTION - II
g - Il
Either

English Language

Note : Four alternatives are given as possible answers to each question.
Give the correct choice as an answer.

Note: Questions 131-134
Select the word nearest in meaning to the given words :

131. Exaggerate :

(1) Earthly (2) Understate

(3) Overstate (4] Luxurious
132. Languish :

{1) To become strong (2) To gain vitality

{3} To elevate (4) To become dispirited
"133.Rapport :

(1)  Ambiguity (2) Clarity

(3) Harmonious relation (4) Cocoperation
134 Rebate :

(1} Gift (2] Interest

(3) Commission (4} Discount

Questions 135-138
Select the word opposite in meaning to the given words ;

135. Mercenary :

(1) Generous (2) Cruel
{3) Covetous (4) Wanton
136. Abhor :
{1} Love {2) Hate (3) Generous (4) Vulgar
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137.Folly : ;
(1) Right (2) Exact (3) Action (4) Wisdom
138.Heighten :
(1) Widen (2) Decrease
(3) Increase (4) Strengthen
Questions 139-142

Fill in the bianks with correct preposition :

139. Never enter-----my house¢ again.

(1) in (2) into

(3) at (4) No preposition required
140.Divide twelve mangoes----- three boys.

{1} to (2) for (3} among (4) between
141. She comes ------a noble family,

(1) of {2) from (3) out {4) at

142. Professor Kumar will take -----as the new Principal tomorrow.
(1) up (2) over (3) on (4) upon

Questions 143-146
Fill in the blanks with the correct word :

143.Unless he ----- this office, I will not say anything.
(1) does not leave (2) left
(3) leaves (4) did not leave

144, There is nothing ------ than property in youth,
(1) quite miserable (2) more miserable

(3} very miserable (4) as miserable

41 P.T.O.
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148. An overdose of chloroform is ---------to a plant as 10 a man.
(1) enough fatal (2) too fatal
(3) as fatal (4) sofatal
146, My friend feels as though nothing ------- ta him.
{1} has happened (2) happened
(3} had happened (4) will have happened

Questions 147-148
Identify the part having an error in the following sentences :

147.(1) the enmity between
(2) the two groups
(3) had reached a level
(4) where reconciliation has become impossible.

148.(1) It being rainy day (2) most of the people
(3) out on the street were (4] carrying umbrellas
Questions 149-150 _
Select the option that best expresses the meaning of the following
idioms : '
149, By the skin of one's teeth !
(1} Just (2) narrowly
(3} in time (4) hurriedly

180, Hobson's choice :
(1) excellent choice (2) horse race
(3) no choice (4) rejection of offer
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SECTION - I
qgg - 1I
OR
HYqy
= ey

e frfafaa gedt (1), (@), (3) a1 (@) FHiE B STe-aC YERTE
I RA R Red § o o & wd R o o9E s @
g | :

181. 599 & &g w9 ) B Zaaerh a6 &
{1) = (2) "t (3] AT (4) ot

152, STyfr wmefia o wmaedt @ Rifvdl @ R fee ga i &
gﬂiﬂ?
(1) et (2) F@HTT (3) sl 4) @i

183. @R & fpg orgede &, B GO Sl GOHNT B R
drar o & 7

(1) 342 (2) 345 (3) 350 (4] 351

184. FFATTH Rify | gu 3 e I uq9 /3 A, 1947 A e
samerer H wfafy wfee & ?

(1) sad e+ (2) smad Tr=dg
(3) gHNH &E A (4) Efo IFHAET wfear

43 P.T.O.
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1SS, oy ot @l fivT, Fee, @i, JoU offk & FIE &Y aiE g
2, 39 4T @Ed & 7

(1) duyREd= (2) Taemrd
{3) =afaiigd (4) SIS
156. fFar & ofd ¥ TerE w@wT 99 ge el B o He ¥ 7
(1) = (2) afee
(3) =g (4) wETid
157. &7 @ fopm o= o1 ao AYE B ?
(1) Fafsiera (2) wgshie
(3) =faz (4) gieeEr
158, % A pF A N e EEfAe AifeTe-
(1) &=arEr {2) w=TE
(3] "= (4) =T
159, ‘STEAT F YE TOHH I & ?
(1) g (2) aaffer
(3) wrget (4) grged
160. ‘FIEl FH ga deqH w9 FafTE Hfg-
(1) (2) Wifks
(3) == (4) T
161, ‘& & # UGT g - AEG H TE o g -
(1) g&=H (2) g
{3) gHE=.I (4) J&F
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162. ‘09T A= 1 watgaT, Frey § d vy 98 2 7

(1) g¥F=t (2) Fg=

(3} FFUT (4) ATifeas
163. T’ yr=r & wAWE 59F § Ay @ & 7

{1) 799 (2) AFIT

(3) Frfaa (4) =
164. ‘Afhny’ @1 wé fasim s wifg -

(1) s (2) arfdmg

(3) 9ty (4) SrgETq

155.mmmﬂﬁﬁﬁsﬁﬁ=ﬂ%mﬂﬂm&,:mw
I A € W BT e wmy oy ?

(1) 7= arefeie (2) =refis amege
(3) T g7 g (4) Hedrm A g

43 P.T.O.
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(3) T T
169, ‘Pt # Fr-ar wATe TgE ¥ ?
“] q;ﬁm Izi "Eﬁﬂ
(3) a5 (4) A
170, “weET W F A€ - w=m ¥ 7
(1) ¥ + B (2) 591 + JBT
(3) 99: + B (4) ":Fh:+ﬁ

46
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ROUGH WORK
" wrd

47 P.T.0.
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